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(1) Zdfri(v) VITHPOEREICEIY v =10 %
(2) Bl A58 (m)
al= o Ofg,v = 1.214 a2 = . 13.0.\/ = 1.209
100 1004/ 3
m = a1 X SL = 1.214 X 21 = 25.5 N/mf
Yo>T m = 25.5 N/mt
(3)/kEA L FEE(W/C) m = -15.5 + 24.2 X C/W
W/C = 24.2 = (25.5 + 15.5) X 100 = 59 % = [60%(J:BE1 )]
"W/C = %
(4) BALKE (W) YT OERIC ot@ W = 151 ke /mi
(5)HpNrE A FE(C) C =W =+~ (W/C) X 100 = 151 = 59 X 100 = 256 keg/m
Cv= C + 2 = 9256 +~ 3.02 = 85 1/m
(6) 22518 (A) A =45 % X 1000 = 45  1/m
(T EBEMHEME(G) HTHOFERKICLY 7EFFE = 0.682 m/m EFER = 61.0 %
Gv = 0.682 X 1000 X 61.0 = 100 = 416 1/m
G = Gv X REEE = 416 X 2.68 = 1115 kg/m
Gl = G X 60.0 % = 669 keg/m
G2 =G — GI = 446 kg/m
(8) HALMIEHM £ (S) Sv = 1000 — (W+Cv+Gv+A) = 1000 — 697 = 303 1/mi
S = Sv X FWEKE = 303 X 2.57 = 779 kg/m
(9)MEME(s/a) s/a = Sv — (Gv+Sv) X 100 = 42.1 %
(10) EALREFAIE (Ad) Ad = C X ¥IE X ZHE = 256 X 0.8000 % X 1.00 = 2.05 kg/m
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